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HEARES | LAROEShM) | TAEROREHAFDKN/m2) | BEHOM AP2N/m2) | #ErBRES | TEROEShM) | TAROFREAFDN/m2) | BEHOH HP2(N/m2)

No.0 0.78 2211 9.36

No.1 0.67 16.16 10.71
No.2 0.65 15.47 10.97
No.3 0.55 10.95 12.77
No.4 0.53 8.98 13.07
No.5 0.53 6.40 13.14
No.6 0.65 7.62 11.02
No.7 0.60 57 11.77
No.8 0.61 5.28 11.64
No.9 0.63 443 11.29
No.10 0.64 4.07 11.08
No.11 0.66 3.77 10.89
No.12 0.62 4.21 11.43
No.13 0.61 437 11.62
No.14 0.60 4.48 11.75
No.15 0.60 455 11.83
No.16 0.65 3.85 10.99
No.17 0.68 3.38 10.60
No.18 0.90 1.59 8.35
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